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CLASS: 12th (Sr. Secondary) 
Series: Sec/Annual-2024 

Subject Code: 906                                  
      Model Question Paper (2023-24) 
                     क̱ɗूटर िवǒान 

COMPUTER SCIENCE 

(Academic/Open)  

[िहȽी एवं अंŤेजी माध्यम] 

[Hindi and English Medium] 

(Only for Fresh/Re-appear/Improvement/Additional Candidates) 

 
समय: 2.30 घǵे                                                                                                        पूणाōक: 40 
Time allowed: 2.30 Hours                                                                     Maximum Marks: 40 
 

 कृपया जाँच कर लŐ िक इस Ůʲ-पũ मŐ मुिūत पृʿ 7 तथा Ůʲ 14 हœ। 
 
Please make sure that the printed pages in this question paper are 7 in number and it 
contains 14 questions. 

 
 Ůʲ-पũ मŐ दािहने हाथ की ओर िदये गये कोड नɾर तथा सेट को छाũ उȅर-पुİˑका के मुƥ-पृʿ पर 

िलखŐ। 
 
The Code No. and Set on the right side of the question paper should be written by the 
candidate on the front page of the answer-book. 

 
 कृपया Ůʲ का उȅर िलखना शुŝ करने से पहले, Ůʲ का Ţमांक अवʴ िलखŐ।  

 
Before beginning to answer a question, its Serial Number must be written. 
 

 उȅर-पुİˑका के बीच मŐ खाली पɄा / पɄे न छोड़े। 
 
Don't leave blank page/ pages in your answer-book. 
 

 उȅर-पुİˑका के अितįरƅ कोई अɊ शीट नही ंिमलेगी। अतः  आवʴकतानुसार ही िलखŐ और िलखा उȅर 
न काटŐ। 
 
Except answer book, no extra sheet will be given. Write to the point and do not strike the 
written answer. 

 
 परीƗाथŎ अपना रोल नं० Ůʲ-पũ पर अवʴ िलखŐ। रोल नं० के अितįरƅ Ůʲ-पũ पर अɊ कुछ भी न िलखŐ और 

वैकİʙक Ůʲो ंके उȅरो ंपर िकसी Ůकार का िनशान न लगाएँ। 
 
Candidates must write their Roll No. on the question paper. Except Roll No. do not 
write anything on question paper and don't make any mark on answers of objective type 
questions. 
 

 कृपया Ůʲो ंके उȅर देने से पूवŊ यह सुिनिʮत कर लŐ िक Ůʲ-पũ पूणŊ व सही है, परीƗा के उपराȶ इस सɾɀ मŐ 
कोई भी दावा ˢीकार नही ंिकया जायेगा। 
 

Roll 
No. 
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Before answering the questions, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after examination. 

       __________________________________________________________________________ 
 

NOTE: The question paper is divided in to four sections (A, B, C, and D)  
i) SECTION A consists of 1 Question (10 Objective Type Questions of 1 mark each). 
ii) SECTION B consists of 4 Very Short Answer type questions of 1 mark each. 
iii) SECTION C consists of 5 Short Answer type questions of 2 marks each. 
iv) SECTION D consists of 4 Essay type questions of 4 marks each with Internal Choice. 

       
        नोट: Ĥæन पğ चार खंडɉ (A, B, C, D)  मɅ बाटंा गया है। 

i) सÈेशन A के Ĥæन सÉंया 1 मɅ 1 अंक के 10 वèतǓुनçठ Ĥकार के Ĥæन हɇ। 
ii) सÈेशन B मɅ 1 अकं के 4 अǓत लघु उƣर Ĥकार के Ĥæन हɇ। 
iii) सÈेशन C मɅ 2 अकंɉ के 5 लघ ुउƣरȣय Ĥकार के Ĥæन हɇ। 
iv) सÈेशन D मɅ आतंǐरक ͪवकãप के साथ 4 अंकɉ के 4 Ǔनबधं Ĥकार के Ĥæन हɇ। 

_____________________________________________________________________________ 
 

SECTION-A 

1. All questions are compulsory and carry 1 mark each.                            10                           
सभी Ůʲ अिनवायŊ हœ और Ůȑेक 1 अंक का है। 
i. A collection of hyperlinked documents on the internet will form           

a) World Wide Web (WWW) 

b) E-mail system 

c) Mailing list 

d) Hypertext markup language 

इंटरनेट Ůपũो ंपर हाइपरिलंक िकए गए दˑावेज़ो ंका संŤह 

a) वʒŊ वाइड वेब (WWW) 

b) ई-मेल Ůणाली 

c)  मेिलंग सूची 

d)  हाइपर टेƜ माकŊ अप लœƹेज 

ii. In the __________ normal form, a composite attribute is converted to individual 

attributes. 

a) First 

b) Second 

c) Third 

d) None of the Above  
__________ नॉमŊल फॉमŊ मŐ, एक समŤ िवशेषता को अलग-अलग िवशेषताओ ंमŐ पįरवितŊत िकया जाता है। 

a) पहली 

b) दूसरी 

c) तीसरी 

d) उपरोƅ मŐ से कोई नही ं
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iii. Among the following, which is the HTML paragraph tag? 

a) <p> 

b) <pre> 

c) <hr> 

d) <a> 

                िनɻिलİखत मŐ से कौन-सा HTML पैराŤाफ टैग है?  

             a) <p> 

             b) <pre> 

             c) <hr> 

             d) <a> 

iv. If the elements “A”, “B”, “C” and “D” are placed in a queue and are deleted one at a 

time, in what order will they be removed? 

a) ABCD 

b) DCBA 

c) DCAB 

d) ABCD 

यिद element "A", "B", "C" और "D" को एक queue मŐ रखा जाता है और एक बार मŐ  हटा िदया जाता है, तो 

उɎŐ िकस Ţम मŐ हटाया जाएगा? 

a) ABCD 

b) DCBA 

c) DCAB 

d) ABCD 

v. ____________ Tag is used for making the text bold. 

टेƜ को बोʒ करने के िलए__________ टैग  का उपयोग होता है। 

vi. ________ Operator in C++ requires three operands. 
 
 C++ मŐ ________ ऑपरेटर  को तीन ऑपरŐड की आवʴकता होती है। 

 
vii. “header” keyword is used to declare the header file in C++. True/False 

 
C++ मŐ हेडर फाइल को िडƑेयर करने के िलए “header” कीवडŊ का Ůयोग िकया जाता है. सȑ/असȑ 

 

viii. HTML files are saved by default with “.html” extension. True/ False 

 
HTML फाइल िडफॉʐ ŝप से “.html” एƛटŐशन के साथ सेव होती है. सȑ/असȑ 
 
Direction: In the questions given below, there are two statements marked as 
Assertion (A) and Reason (R). Choose the correct option out of the choices given 
below in each question: 
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िनदőश: नीचे िदए गए Ůʲो ंमŐ, कथन (A) और कारण (R) के ŝप मŐ िचि˥त दो कथन हœ। Ůȑेक Ůʲ मŐ नीचे िदए 
गए िवकʙो ंमŐ से सही िवकʙ का चयन कीिजए: 

 
ix. Assertion (A): Primary key is a set of one or more attributes that identify tuples in a 

relation uniquely. 
Reason (R): Every table must have one primary key. 
 

I. Both (A) and (R) are correct and (R) is correct explanation of (A). 
II. Both (A) and (R) are correct and (R) is not the correct explanation of (A). 

III. (A) is true but (R) is false. 
IV. (A) is false but (R) is true. 

 
कथन (A):  Ůाइमरी की एक या अिधक िवशेषताओ ंका एक सेट है जो िविशʼ ŝप से संबंध मŐ टपʤ की पहचान 
करती है। 
 
कारण (R): Ůȑेक टेबल मŐ एक Ůाइमरी की होनी चािहए। 
 

I. (A)और (R) दोनो ंसही हœ और (R), (A) की सही ʩाƥा है। 
II. (A) और (R) दोनो ंसही हœ और (R), (A) की सही ʩाƥा नही ंहै। 

III. (A) सȑ है लेिकन (R) असȑ है। 
IV. (A) असȑ है लेिकन (R) सȑ है। 

 
x. Assertion (A): The Internet is a collection of interconnected computer networks. 

Reason (R): World Wide Web is a collection of interconnected documents. 
 

I. Both (A) and (R) are correct and (R) is correct explanation of (A). 
II. Both (A) and (R) are correct and (R) is not the correct explanation of (A). 

III. (A) is true but (R) is false. 
IV. (A) is false but (R) is true 

 
कथन (A):  इंटरनेट आपस मŐ जुड़े कंɗूटर नेटवकŊ  का एक संŤह है। 
कारण (R): वʒŊ वाइड वेब आपस मŐ जुड़े दˑावेजो ंका एक संŤह है । 
 

I. (A)और (R) दोनो ंसही हœ और (R), (A) की सही ʩाƥा है। 
II. (A) और (R) दोनो ंसही हœ और (R), (A) की सही ʩाƥा नही ंहै। 

III. (A) सȑ है लेिकन (R) असȑ है। 
IV. (A) असȑ है लेिकन (R) सȑ है। 

 
SECTION-B 

            All questions are compulsory. Marks are indicated against each question.  
            सभी Ůʲ अिनवायŊ हœ। Ůȑेक Ůʲ के अंक उसके सामने िदए गए हœ। 

 
2. Define friend function in C++.                1 

C++ मŐ ůŐ ड फंƕन को पįरभािषत करŐ। 
 

3. What is Multi Level Inheritance?                                                                                        1 
मʐी लेवल इनहेįरटŐस Ɛा है। 
 

4. Define 1NF.                                                                                                                          1 
1NF को पįरभािषत कीिजए। 
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5. Write the syntax of Create a Table in SQL.                                                                         1 
SQL मŐ Create a Table का िसंटैƛ िलखŐ। 

SECTION-C 
 

          Marks are indicated against each question.  
          Ůȑेक Ůʲ के अंक उसके सामने िदए गए हœ। 

6. What is a constructor? Name different types of constructor in C++.                                  2 
 
कं Ōː ƃर Ɛा है? C++ मŐ िविभɄ Ůकार के कं Ōː ƃर के नाम िलİखए।  

OR 
 
Explain the use of scope resolution operator in C++ programming.                                                                  
C++ ŮोŤािमंग मŐ ˋोप रेजोʞूशन ऑपरेटर के उपयोग की ʩाƥा करŐ । 
 

7. Explain AVG ( ) function, its syntax in SQL with example.                                               2 
AVG ( ) फंƕन और उसके िसंटैƛ को SQL मŐ उदाहरण सिहत समझाइए। 
 

8. How to add hyperlink in a web page using HTML?                            2 
HTML का उपयोग करके एक वेब पेज मŐ हाइपरिलंक को कैसे जोड़ सकते हœ ? 

 
9. Ranjana has to work on her science project which deals with electromagnetic waves. A 

lot of research work is required by her for the same. She uses Google Chrome to search 
for the relevant matter.(Give answer based on the above information)                          2                                                                                  

I. Google Chrome is an example of a 
a) Website 
b) Web browser 
c) Web Page 
d) None 

II. She finally locates some useful information and clicks on the link provided to      access 
the website. The link is actually known as a_____________. 

a) Domain name 
b) Web Page 
c) URL 
d) IP address 

 
रंजना को अपनी िवǒान पįरयोजना पर काम करना है जो िवद्युत चुɾकीय तरंगो ंसे संबंिधत है। उसके िलए बŠत 
सारे शोध कायŊ की आवʴकता है। वह Ůासंिगक मामले की खोज के िलए Google Chrome का उपयोग करती है। 
(उपरोƅ जानकारी के आधार पर उȅर दŐ) 

I. गूगल Ţोम इसका एक उदाहरण है 
 

a) वेबसाइट 
b) वेब Űाउज़र 
c) वेब पृʿ 
d) कोई नही ं

 
II. अंत मŐ वह कुछ उपयोगी जानकारी ढंूढती है और वेबसाइट तक पŠंचने के िलए िदए गए िलंक पर İƑक करती है। 

िलंक को वाˑव मŐ _____________ के ŝप मŐ जाना जाता है। 
 

a) डोमेन नाम 
b) वेब पृʿ 
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c) URL 
d) IP पता 

 
10.   A School in Haryana uses DBMS to store student details. The school maintains a database 

'school_record' under which there are two tables.  
Student Table: Maintains general details about every student enrolled in school. StuLibrary 
Table: To store details of issued books.  
BookID is the unique identification number issued to each book.  
Minimum issue duration of a book is one Day.                                                                                   2 
 
हįरयाणा मŐ एक ˋूल छाũ िववरण संŤहीत करने के िलए DBMS का उपयोग करता है। ˋूल एक डेटाबेस 

'ˋूल_įरकॉडŊ ' रखता है िजसके तहत दो टेबल हœ। 

Student Table: ˋूल मŐ नामांिकत Ůȑेक छाũ के बारे मŐ सामाɊ िववरण रखता है।  

StuLibrary Table: जारी की गई पुˑको ंके िववरण को ːोर करने के िलए। 

BookID Ůȑेक पुˑक को जारी की जाने वाली िविशʼ पहचान संƥा है। 

एक पुˑक की Ɋूनतम जारी करने की अविध एक िदन है। 

            
I. The Primary Key for StuLibrary Table is/are …….  

StuLibrary टेबल के िलए Ůाइमरी कंुजी है/हœ। 
a) BookID 
b) BookID,StuID 
c) BookID,Issued_date 
d) Issued_date 

II. The Alternate Key for Student Table will be ……….  
Student टेबल के िलए वैकİʙक कंुजी ……… होगी। 
a) StuName 
b) StuContact 
c) StuAadhar 
d) StuClass 

 

SECTION-D 
11. What is Stack Data Structure? Write an algorithm to insert an element in a stack. 

 

ːैक डेटा Ōː Ɓर Ɛा है? एक ːैक मŐ एक एिलमŐट डालने के िलए एक एʎोįरथम िलखŐ।                     4 
OR 

What is sorting? Explain Selection Sort in detail with example. 
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सॉिटōग Ɛा है ? िसलेƕन सॉटŊ को उदाहरण सिहत िवˑार से समझाइए। 
 
 

12. What is Software Engineering?  Explain different phases of SDLC.             4 

सॉÝटवेर इंजीǓनयǐरगं Èया है ? SDLC के िविभɄ चरणो ंकी ʩाƥा करŐ। 

OR 
What is software testing? Explain different levels of software testing.                                    

            सॉɝवेयर परीƗण Ɛा है? सॉɝवेयर परीƗण के िविभɄ ˑरो ंकी ʩाƥा कीिजए। 

13. What is a computer network? Why do we need networking in computers? Explain 
different types of computer networks.                                                                                 4 

कंɗूटर नेटवकŊ  Ɛा है? हमŐ कंɗूटर मŐ नेटविकō ग की आवʴकता Ɛो ंहै? क̱ɗूटर नेटवकŊ  के िविभɄ              
Ůकारो ंको समझाइए। 

OR 

            Explain each: 

              i. HTTP                                                       ii.URL 

 iii.FTP                                                          iv.WWW             

           Ůȑेक की ʩाƥा करŐ : 

              i. HTTP                                                       ii.URL 

             iii.FTP                                                          iv.WWW 

14. Define Inheritance in C++. Explain any 3 types of inheritance.                                    4   
C++ मŐ इनहेįरटŐस को पįरभािषत कीिजये I इनहेįरटŐस के िकɎी 3 Ůकारो ंको समझाइए I  

OR 
Write a C++ program to define a class employee having  

Ƒास employee को िडफाइन  करने के िलए एक C++ ŮोŤाम िलİखए िजसमे  
Data 
Member  
डाटा मेàबर  

Emp-id 
Emp-name 
basic salary 

Member 
Function 
मेàबर फंÈशन 

accept()  
display() 

 
Calculate DA=25% of basic salary, HRA=800, I-tax=15% of basic salary. Display the pay 
slip using appropriate output format. 
DA = बेिसक पे का 25%, HRA = 800, I-टैƛ = बेिसक पे का 15% की गणना करŐ । उपयुƅ आउटपुट 
ˢŝप का उपयोग करके पे İˠप ŮदिशŊत करŐ। 
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